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Unit 2: Multiply by 1-Digit Numbers
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Targets
A = Achieved Target
NA = Nearly Achieved Target
D = Did Not Meet Target
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5.) Solve.
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8.) Use place-value and partial products to solve these problems.
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9.) Which of the following shows a strategy to use to find
       3 X 198?
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10.) Solve these problems by regrouping.
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11.) Solve these problems by regrouping.
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-----------------------------------------------------------------T2b--------
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14.) Estimate the product by rounding.
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3x8=24
380 =

3 % 800

3 %8000 =




image7.png
Samantha has 4 boxes of action
figures. Each box contains 198
figures. Which expression shows a
strategy Samantha can use to find the
product of 4 x 1987

A 4% (200 + 2)
B 4 X (200 - 2)
€ 4% (200 X 3)
D 4 X (200 + 98)




image8.png
A store owner ordered 132 boxes of
erasers. There are 8 erasers in each
box. Use place value and expanded
form to write an expression that
shows how to multiply 8 x 132.
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190
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¢ Test Prep Which of the following shows a
strategy to use to find 3 x 1987

® 3% 2000~ 3 x2
® 3x2000+ B x2
© Bx198 -6

® 198 - 6
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x

33

$25

$94
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603
X 4

1,935

$8,326




image14.png
. A farmer picked 6 bushels of lettuce
from one of her fields. Each bushel
contained 186 heads of lettuce. The
farmer made a model to help her find

how many heads of lettuce she picked
in all.

100 80 6

How many heads of lettuce did the
farmer pick?




image15.png
The Community Youth Center sold
raffle tickets to raise money for
supplies. They sold 62 raffle tickets
for $8 each. Mrs. Hernandez says they
raised about $480.

Which statement best describes the
reasonableness of Mrs. Hernandez's
estimate?

A The estimate is reasonable
because 10 X 70 = 700.

B The estimate is reasonable
because 8 X 60 is 480.

© The estimate is not reasonable
because 480 is not the product of
8 X 62.

D The estimate is reasonable
because 8 X 500 = 4,000.
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image17.png
A mall survey showed that 964 people
entered at the main entrance in one
hour. Which is the best estimate of
how many people will enter at the
main entrance in 6 hours?

A 900
B 1,000
¢ 5,000
D 6,000
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Latisha has 7 boxes with 21 shells

in each box. She has 6 bags with 17
shells in each bag. She uses 18 shells
to make a design. Which of these
expressions can Latisha use to find
how many shells she has left?

A7 +21X6+17 — 18
B7X21+6xX17 +18
c7+21+6+17 - 18
D7X21+6x17 — 18




image19.png
A factory produced 4,000 crayons
every hour during the first 8-hour
day. On the second 8-hour day, 3,000
crayons were produced each hour.
How many crayons were produced on
the two days?




image20.png
Andy and Catherine are making
bracelets to sell at a jewelry shop.
Andy made 21 bracelets and put

24 beads on each. Catherine made
12 bracelets and put 28 beads on
each. What is a reasonable estimate
of how many more beads Andy used
than Catherine?
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Mrs. Torres drives 495 miles each
month to visit her sister. How far does
she drive in 3 months for her visits?
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Serena has 6 photo albums with

15 photos in each. Her friend Maya
has 8 albums with 13 photos in each.
If Serena adds another 12 photos to
her albums, how many photos will
Serena and Maya have in all?
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Tanya printed 30 copies of her
school's student handbook. Each
handbook used 16 sheets of paper.
She has 20 sheets of paper left over.

Write and solve an equation to find
the number of sheets of paper Tanya
started with. Use a letter for the
unknown quantity.
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Which equation best represents the
comparison sentence? '

18 is 2 times as many as 9.
®18x2=9
®18=2x9
©18=9+2
@®2+9=18
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Which comparison sentence best
represents the equation?

8 x4 =232

® 8 more than 4 is 32.

4is 8 times as many as 32.
(© 8 is 4 times as many as 32
(D) 32 s 8 times as many as 4.




image3.png
5. Kirin has 28 books. This is 7 times as
many books as Gail has. Kirin made
a model to compare the numbers of
books they have.

28

Which equation represents how to
find the value of n?

A28=n+7
B28=7Xn
c28+7=n

D28X7=n
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In Jim's class, 5 times as many
students take the bus as those who
walk. A total of 24 students walk
or take the bus. How many more
students take the bus than walk to
school?
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195,000

]
©
X

thousands

= thousands
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